38
(1.50") *

282

101
(11.10") "

98

ELECTRONICS COVER

ISOMETRIC VIEW

122 208
NAMPLATE (478" (8.19")
(039") 3
CONDUIT ENTRIES 1 & 2 ( 9.990.. ) MOTOR COVER — CO.fG Eg N
S I
- [ DISPLAY WINDOW N
'I [y =1/ =——"TN(l ~
| TF b “ ||| - \ @
I~ 'S - ol X %
== 7 T No Zt 3 TN
. " A 0 \ ~ | b, oY X
\ o = M Y3 19
N:Ow% N !i ) '%\JH“ II N I\ S /): | N
6 'ﬂg Eo%(_‘) Ny == = - L - | '| =)
ERNEE 1 \ i 4 OPEN/CLOSE SWITCH o | e
DRAIN PLUG =
Y \ LOCAL/REMOTE/STOP SWITCH -
20 ADAPTER MTG. POSITION o~
o ADAPTER MTG. POSITION Ne
®6.5 (1/4") EARTH POINT
M6 EXTERNAL EARTH STUD
DRAIN PLUG
FO5/FAQ5 & FO7/FAQ7
IBASE ADAPTER |
CONDUIT ENTRIES 3 & 4
(OPTIONAL)
BATTERY PLUG = &
IS=—=—z | o™ | o™
\_|_\/.\«\>, F@III NS
DRAIN PLUG /7 (Y o ‘
N - 2 = _ a0 !
= e e RN | ﬁ[ |
A { [ '
It ek
| 5 S Zi > e b I
tan) —(ﬁ“"*' 1 % L
HAND AUTO LEVER = ol
TERMINAL COVER - - -
HAND / AUTO LOCKING 67
BOLT HOLES FOR (2.64") HANDWHEEL
®8mm HASP PADLOCK \
ADAPTER MTG. POSITION
CONDUIT ENTRIES
(NTS)
| |
' ' HAND / AUTO LOCKING
BOLT HOLES
NOTES FOR $8mm HASP PADLOCK
DEFAULT HOLE SIZE: M25x1.5P 1. THE BASE ADAPTER SHOULD BE LOADED TO MTG POSITION INDICATED IF REQUIRED.
2. " REMOVAL ALLOWANCE REQUIRED.
Title Date A4 Doc Number Ver No | Scale |Sheet No,
DIMENSIONAL DATA SHEET FOR IQT, IQTM & IQTD 191114 |QT3 1-STD 3 15 |1 of 2
mk3 (Sizes 50/100/125/250/500). '




2 CAPSCREWS
M4 REMOVE

IN ORDER TO
WITHDRAW
DRIVE COUPLING

(ISO 5211 F10)

F10 BASE DETAILS

4 HOLES M10x1.5p16 DP
EQUI-SPACED ON A 102 PCD

2 CAPSCREWS
M4 REMOVE

IN ORDER TO
WITHDRAW

DRIVE COUPLING {7

I—-ﬁ)

4 HOLES 3/8" -16UNC x16 DP.
EQUI-SPACED ON A 4.0" PCD.
(MSS SP-101 FA10)

FA10 BASE DETAILS

wwne FOUOTME com

@42 MAX. (KEYED SHAFT)
0.1.65"

32 MAX. (SQUARE SHAFT)

o (1.26")
5
0!
<4
! |
i '
@69
2.72" =
A P
g <
S X
=< Qd

COUPLING DETAILS
(F10/FA10)

2 CAPSCREWS
M4 REMOVE IN
ORDER TO
WITHDRAW
DRIVE COUPLING

(1ISO5211 F07)

FO7 BASE DETAILS

4 HOLES M8x1.25px12DP
EQUI-SPACED ON A 70 PCD.

2 CAPSCREWS
M4 REMOVE
IN ORDER TO
WITHDRAW
DRIVE COUPLING ™

4 HOLES 5/16" -18UNC x 12.70 DP

EQUI-SPACED ON A 2.75" PCD.
(MSS SP-101 FA07)

FAO7 BASE DETAILS

@28 MAX. (KEYED SHAFT)
.10")

19 MAX. (SQUARE SHAFT)

_,\ (0.75")
=)
(]
89
+ LIl
. @53
3 (2.09") §
-2 ~
=%
T?]
8y

COUPLING DETAILS
(FO7/FAQT)

?120
4.72"

4?'?\

4 HOLES M6x1.0px12DP

EQUI-SPACED ON A 50 PCD.

(ISO 5211 FO5)

FO5 BASE DETAILS

»120
4.72")

/\S\o

4 HOLES 1/4" -20UNC x12 DP
EQUI-SPACED ON A 2" PCD.
(MSS SP-101 FAO5)

FAOS BASE DETAILS

@22 MAX. (KEYED SHAFT)
87"

14 MAX. (SQUARE SHAFT)

g (0.55")
|
84l
+ |
@38 .
(1.50") %
g =g
g 8
-9 8 o

COUPLING DETAILS
(FO5/FAQ5)

DIMENSIONAL DATA SHEET FOR FOS/FA0S, FO7/Fa07| D[R4l Poctumber jverNo) scele jshesto
& F10/FA10 BASE & COUPLING OPTIONS 19114 IQT3-1-STD| 3 | 1:10/20f 2




